FE M (Bid) 37,697,000
IR FiIBRATE & (F2d) 34,011,494 H
S U LEBRHE 1.00060
[ L B
Bfr - M
BB : $M5FE10R278 BRABZA - FREETRAT 3B EHEMER
T =S & =5 % ##-56 =
T = £ FETREEEEEX XEERESNIE
i T & P T AFELIHREEE W
A# = 8 (8 k)
No. L
o A EEE LT Ty # =
: A R 30 921 394 AHL£%5E 10%IcHHLT 25E%ME
L=&%ETHFL LIz, 34,013,533
2 BW7—1 =X 30, 923, 248
3 MR A ER I 30, 923, 248
4 MARFH 30, 927,574
5 Wy >yai=4> 30, 928, 501
6 (75PN 30, 929, 119
7 (HQ)SFEZEEQ 29. 367, 000 H;Z%%UBE‘E%E—F@ S>f=1f=&
8 WITEEE 30, 890, 626 SERRmAEE TR >7f)
9 WYALTFYY 30, 891, 425 SUERRIDEETE S0
10 E55E 30, 906, 562 ig*‘l MR & T E > 7= 1=
11 (ﬁ)ﬁﬂliﬁfé 30’ 909’ 034 H;Z%%UBE‘E*%ET@ ->2f=1=6
12 (ﬁ)%ﬁ-* 30, 910, 888 H;Z%%UBE‘E*%ET@ S>f=1f=&
13 (ﬁ)z*%ﬁ 30’ 910’ 888 H;Z%%UBE‘E*%ET@ ->f=1=6
14 (ﬁ)x*g 30,911, 197 H;Z%%UBE‘E*%ET@ S>f=1f=&
15 FHREH 30, 913, 360 SUERRIDEETE S0
16 (**)E *%ﬁ 30’ 915’ 593 H;Z%%UBE‘E*%E—F@ ->f=1=6
17 (ﬁ)j <A 30,918, 613 H;Z%%UBE‘E%ET@?T:T:&)




FEffitE (Fid) 12,716,000 M
AR I BR{EAE (Brid) 11,364,645 M
S U LR 1.00092
W L B R
B M
BB : §F5F108278 BB FT - FREETRET 3R RHEMR
T = # = £ E-65 =
I k=% 2 MRER 1EREAN—42 ) —HRIZE
i T & 2} W HIA # N
A#H £ 8 (%K)
No. A EF K 2 s 1 @ ‘ s 2 @ fi5 £
| wxEEs 10, 331, 909 ARLEE 10%I-Ha1T SE|EM5
= U Li-£#THAL LT, 11,365,099
2 (ﬁ)%%%ﬂ 10’ 323’ 754 E:i%%” BE‘E*%%T@ o>2f=1=6
3 N 10, 324, 890 E:i%%” Rifit& & TEI> ==
4 B AL 10, 325, 406 E:i%%” Rifit& & TEI> ==&
5 @ELA 10, 326, 748 SUERIRImAR & TR 71
6 EEMRER 10,327, 264 SERRmEE TR >7=ft)
7 BW7—1 X 10 327. 367 RIEHIRMEE = TR >7=7-8
B KA
8 AR 10, 327,573 E:i%%” Rifit& & TEI> ==&
9 (Hi)j :/“/)-r 10, 327. 780 EEE"&%” BE‘E*%%T@ S>t=1t=&
B KA
10 (ﬁ)%* 10. 328. 296 E%"&%”BE‘E*%%T@’JT:T:&)
T KA
1 FERSH 10, 328, 399 SHERRmEE TR >7=ft)
12 (HE)E*%H 10’ 329’ 535 E:i%%”ﬂﬂﬁﬁ*%é?@?f:f:&)
13 (ﬁ)&)éUIﬁE 10’ 329’ 844 E:i%%”ﬂﬂﬁﬁ*%é?@?f:f:&)
14 MAE 10, 330, 360 E:i%%” Rifit& & TEI> ==&
15 (HE): ; 10. 330, 670 EE?L"&%” BE‘E*%%T@ S>t=1t=&
- T KA
16 B ITE 10, 331, 083 E:i%%”ﬂﬂﬁﬁ*%é?@?f:f:&)




FEME Bid) M
AR HI BR A% (F2iA) M
v H LR
M A & R
B [
B4R : SM5FE10A278 BALBAR - FEHEF 3B BRKEMR
I 2 # 5 % #1-38 =
T = £ BRAEBt UL —REERARBRELSE
T & A KW il #h W
AW & 8 (B k)
No. A EFE K A %1@‘%2@ & %

FEMAZERB D 1= O




FRE i AE (Bid) 76,803,100 M

B HI PR (F23d) 69,761,149 /M

U8 LEHR 1. 00084

Hm il & R

B [
BAALE : SHM5FI0A2TE BAALIBAT :  AEAEH 3K ROEHR
T = & =1 % 7k-56 =
T % % FFEIHREEEMRFKRERNTE
T @& 7 BFIREEE H A
AF & & (% k)

N A

o L& K 4 5 1 @ ‘ 5 2 @ i %

T 63421 128 AALEEE 10%ITH LT H5EEME
o L1=23BTHEAL L 1=, 69,763,240

2 @EXM 63, 421, 762

3 AR 63, 423, 029

4 W=k 63, 423, 029

5 MERES% 62, 703, 000 ig%‘mﬂﬁﬂ%’&?@ 2%

6 (ﬁ)%i’%ff‘ﬂ 63, 378, 039 H:ig%“ﬂﬂﬁﬁ%%?@ 2 f:f:&)

7 WEEEE 63,381, 141 SUERIRITHRE TE > 78

8 R TI&IE 63, 383, 742 H:ig%“ﬂﬂﬁﬁ%%?@ oY = it ))

9 FHEEBH 63, 385, 009 plasRimEE TR0

10 WERE IR 63, 388, 811 SUERIRITHRETE > 78

11 2 A 63. 390 079 =IEFIRMEE TES7=7=®
T K&

12 HWEA 63, 403, 385 H:igﬁﬂ“}ﬂﬁﬁ%%?@?f:f:&)

13 WYALTFYY 63, 404,019 plawRim e TR0

14 AL 63. 405. 920 =IEFIRMEE TES7=7=&
B K&

15 EERERR 63, 407, 821 SUERIRIHRE TE > 78

16 B 63. 407. 821 =IEFIRMEE TES7=7=&
B K&

17 HWEHE 63, 409, 088 RlawRmE TR0




RIEHR@AEEZ TR > 7=1=&

18 @®7YETYY 63,412, 817 pradrs
19 @ILAEE 63,413, 524 AR HIBR{EHE & TR > f=1=&

K&




F M (232) 2,318,800 M

B K i BRAM 4% (F23d) 1,739,100 M

U LERHE -

H i & R

B M
FRiB : SM5F10A278 BB :  FEHKK 3WE BEMEMR
I = % = % K-54 B
T £ % LFRRKELRLBULBREEBER
) T & A 7 JLEh A
AR & & (B k)
No.
i A EHE K B $ 1@ % 2@ & 5

AHELE 10%(HET H8EZME

1 BKEXK 1, 800, 000
L-&#ETHAL L=, 1,980,000




